FI396MRAKR—YIRERC LER

T2146H22H

o) 1xzoft (1, 2L OFER) 2R,

MITITBCEABERRR—ViIREE >4 —

AR = IR BB EE D4 i

39 6EARN—VIRH U

AR PR B B 0D 8 5 W]

P2 146 41 3H (£) ~FAE6A20H (h)

FRERA 23 U721 B M O 45

*BIG (Bv?)

P2 146 H20H (1) KOFE4FE6H21H (H)  J1514H, J2FE2 24

cBIG1000 (EyZty)

P2 146 H20H (1) KOFE4FE6H21H (H)  J151 4, J 2224

‘mini BIG (S=tv7)

Frk2 146 H20H (1) J1EE1 48, J 252 24

ctoto (FF)

P2 146 H20H (&) KOFE4FE6H21H (H)  J151 4, J 22 24

‘mini toto Afli (S=rbhxA73)

V2 146 H20H (£)  J 1581 414

‘mini toto Bffi (I =rFE—73)

P2 146 H20H (&) KOFE4FE6H21H (H)  J151 4, J2FE2 24

+totoGOAL3 (Fha—nRAV—)

V2 146 H20H (&) J 151 41

HEEAM

P2 146 4230 (k) ~Fk2246H220 (K)
ZR—VIREL U ORER KLY AL

-BIG

BroE R A B R
O AT B CE S ROTER CEPTEUS I
BAfE H

) 6/20 N7 e z2—1 2 %t 0 Koy h)=—% 1
® 6/20 EKT AL A 4 1 BT T 4 AL 1
® 6/20 LRI T NA 0 %t 1 VxTaFA Ty RTEE 2
@ 6/20 H SRR 0 % 2 TIVE Ly 7 AHE 2
® 6/20 BET N T7—X 1 % 0 Yo b uiEH 1
® 6/20 RKETIVF 4 —D% 2 %1 JLERY > HF. C. 1
@ 6/20 R eI 0 %X 3 FCHK 2
® 6/21 VAN A REYIN 4 %xb 3 ] 1
© 6/21 FRIEF -~ U /A 2 %t 0 WALy X 1
) 6/21 RN EAIE 2 %t 2 WY =V 4 0
&) 6/20 FIEF C 3 %t 0 VYAt 1 1
) 6/20 MR+ T 4 A 2 %t 0 BEF C 1
® 6/21 a7y VRER 2 %t 0 WiARS C 1
) 6/21 A 2 %t 0 Ly VKK 1
(8) < URSRofiid M) 1ZA—2F —209040MTOBL, 2] 38 —A5F—LH09053H TOAT,




E RN i WA O Ial (BIG) N4
(M) q=p (M)
1 % 300, 000, 000 1 97,912, 800
2 % 2,617, 845 19 0
3 % 93, 213 267 0
4 % 12,090 2,055 0
& = A5 4\l (BIG) &4 ()
e E&a%E (M) 994, 782, 000 1 % 0
wEOH (0) 3,315, 940 2 0
BeEERE (B0 838, 541 3 & 0
4 % 0
+BIG1000
BFoE & A& & R
o | 2T bheng—al AR (7=t r—n] | < CFE
R H
D 6/20 A= 2 % 0 Koy b =—% 1
® 6/20 TEAkxT 2L 4 %t 1 ETT 4 A WE 1
® 6/20 LB T RA 0 xf 1 VxTafATy NTEE 2
@ 6/20 VINZAVN 3 0 xf 2 TIVE Ly 7 A 2
® 6/20 BET Y R T7—X 1 % 0 Yo bErEHR 1
® 6/20 KET VT 4 — % 2 1 HHEH L HF. C. 1
@ 6/20 M4 Y 0 xf 3 F CHIX 2
6/21 AN A AENIN = 4 xf 3 7y R E 1
© 6/21 FRIEF -~ U /A 2 %t 0 WLy X 1
6/21 I AE 2 % 2 BT = VT 4 0
@™ | /21 a7y VHER 2 %t 0 WARS C 1
(B < UEEROMT T1) A —AF— A0 CORL, 2] HA—AF—ADI0NE O/
ro) 1x=oftt (1, 2L OFER) 2T,
WA FHE E R IRE k1A (BIG1000) I 4>
(M) q=p (M)
1 % 13, 405, 664 4 0
2 %% 138, 202 97 0
3 % 11,938 1,124 0
4 F 1,340 6, 658 0
B = A5 4 [a] (BIG1000) hi%i4: (M)
e E&sE (M) 178, 742, 200 1 % 0
BEOH (1) 893, 711 2 0
R (KO 231, 485 3 & 0
4 =% 0




*mini BIG

< UHSEOME M) 1 IR —LF—2D05MTOBL.

o) 1xzoft (1, 2L OFER) 2R,

2] 13A—AF— LD TOAT,

BoE & A& & R
O AR B C A AR (7oeqr—n] | S EFE
A H

D 6/20 A= 2 % 0 Koy b =—% 1
® 6/20 TEAkxT 2L 4 %1 ETT 4 A WE 1
® 6/20 BRI TR 0 %t 1 VxTafAT v NTEE 2
@ 6/20 VINZAVN 0 xf 2 TIVE Ly 7 A 2
® 6/20 BET R T7—X I % 0 Yo bErEHR 1
® 6/20 KET VT 4 — 2 xt 1 HHEH L HF. C. 1
@ 6/20 M4 Y 0 xf 3 F CHIX 2
6/20 FIRF C 3 % 0 7 B A g ] 1
@ | 6/20 WE T+ NT 4 A 2 %t 0 REEF C 1
()

S UREROMF T1) 1ZFR—AF— L0053 TORED .,

Moy 1xZoftt (1, 2L OFER) 2T,

2] 1 IR —AF— L0053 TOAT,

WA A E R IRE YkEl (mini BIG) M4
() q=) (H)
1 % 1,016, 494 24 0
2 % 21,228 460 0
3 % 4,120 3, 551 0
& = A5 A 1a] (mini BIG) N4 ()
e E&a%E () 97, 583, 600 1 % 0
BEOH () 487,918 2 0
BeEERE (B0 138, 399 3 % 0
toto
B oE R A B B
o | 2T e sgen) AR (7oeqgen] | U
BAfE H
D 6/20 N7 e 2—1 2 %t 0 Koy b =—X 1
® 6/20 1EKT AL A 4 Xt 1 EBUTT 4 A 1
® 6/20 LR T R 0 xf 1 YVrxTZaf ATy FTE 2
@ 6/20 VINZAVN 0 %f 2 TIE Ly 7 A 2
® 6/20 BET N T7—X 1 % 0 Yo b uiEH 1
® 6/20 RKETIVF 4 —D% 2 %1 ILERY > HF. C. 1
@ 6/20 iER I 0 xt 3 F CHK 2
6/21 WaAN AV AENIN = 4 %t 3 SN2 G 1
© 6/21 FRIEF -~ U /A 2 %t 0 WL > X 1
6/21 AN AE 2 xt 2 BT = VT o 0
D) 6/20 FIRF C 3 % 0 T B A NG 1
) 6/20 MR+ LT 4 A A S| BEF C 1
® 6/21 77y RE 2 % 0 iAkS C 1
()




RV S| SRV VIRE" WRIE] (toto) NI 4
(M) q=p (M)
1 % 20, 116, 705 8 0
2 % 114, 838 175 0
3 % 8,160 2,464 0
B O=E &5 A E (toto) MNE 4 (M)
gt b4&%E () 268, 021, 700 1 % 67,126, 045
BEOH (1) 2,680, 217 2 0
BeZRcE (B0 231, 063 3 & 0
*mini toto A#
e &R 6 8 R
O A B C A AR (7oeqFr—n] | S UFE
A H
D 6/20 A= 2 % 0 Koy b =—% 1
® 6/20 kT 2L % 4 %t 1 ETT 4 A WE 1
® 6/20 BRI T A 0 %t 1 VT afAT v NTEE 2
@ 6/20 VINZAVN 0 xf 2 TIVE Ly 7 AHE 2
® 6/20 BET R T7—X 1 % 0 Tab R 1
(B < UREROMT T1) A —AF— L2005 CORL, 2] HA—AF— A0S TOAIT,
ro) 1xzoftt (1, 2L OFER) 2T,
R WA MK WAl (mini toto AKH)INEL4:
(M) q=p (M
1 % 8,123 1, 445 0
B = 5 i A A (mini toto AR MNE4 (M)
e L& () 23, 477,800 1% 0
BEOL (0) 234,778
BeERE (B0 52, 466
*mini toto B#
B e &R 6 8 R
o | BT reng—a) AR (7oeqFr—n] | S UFE
A H
D 6/20 KETNF 4 —T % 2 %t 1 ARV HF. C. 1
® 6/20 ER 0 %X 3 F CHK 2
® 6/21 WaAN AV aENIN = 4 %t 3 SN2 Gl 1
@ 6/21 FRIEF « < U /A 2 %t 0 WL > X 1
® 6/21 AN HAE 2 %t 2 BT = VT 4 0

E) < UFSRoMF M) 1 3R —2F— 20900 TOBSL, 2] IR —5F—209055H TOAT,
f0] ixzofh (1, 2SN OFER) #FK9,



() < TR OMH T0) 13900 TOR T — L D458 1048
2] 139053 COKT — DA T2/ |

WM AR WMH A B WIE (mini toto BH) I &
= q=) (F)
1 % 12, 298 685 0
B O=E A5 A al (mini toto B I 4 (M)
e b4HE (1) 16, 848, 500 1 % 0
BEOK (O) 168, 485
BeIR . (K0 36, 162
*totoGOALS3
B oE R & OB
” [F—2F—21] g < UAESR
F’ﬂ'fﬁa NO. [77]7::4,?_\__‘&‘] uimﬁ%
Q| Ng7mrz2—1 2 2
6/20 T R ; o
6/20 @ || #aEETTRA 0 0
@ Yzt ATy FTIE 1 1
®| BEE7FF7—X 1 1
6/20 ®| YavruH 0 0

(1] 139045 TOEF— LD T1a5] |
3] 1 X904 CHEF— L DEA 350 F) #3%1,

Y A AHAE YA O Al (totoGOAL3) M4

(F) q=p (F)

1 % 60, 717 176 0

2 % 1,970 3,618 0
& E A5 A [A] (totoGOAL3) M4 (1)
e E&%E (M) 35,632, 900 1 % 0
BN (M) 356, 329 2 & 0

BB (B0 53, 855




